
 

 

 

 

 

 

 

 

Assembly Instructions Phoenix Coffee Table 

Hardware List 

Components 

Helpful hints to make assembly stress free. Ensure surface area you are working with is level, clean & has soft surface, do not tighten bolts till all in place.                                                                                                     

Contact Furniture Solutions if any parts are missing: Email customerservice@furnituresolutions.com.au PH: 1300 794 188 (Aust) 

 Top 

 U Shape Leg * 2 

 Cross Brace  * 4 

A. M8*30 Grub Screw *8 

B. M8 Spanner             *1 

C. M8 Nut                     *8 

D. M8 Washer             *4 

E. M8*35 Bolt             *4 

F. 5mm Allen Key       *1 

 

Insert Step 1 

Insert Step 2 

Insert Step 3 

Insert Completed Image 

 

mailto:customerservice@furnituresolutions.com.au

